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M.A. (Second Semester)
EXAMINATION, May - June, 2022

SOCIOLOGY
Paper Ninth

Indian Rural Society

Time : Three Hours] [Maximum Marks:80

     
Note: Attempt all the sections as directed.


(Section - A)

 
(Objective/Multiple Choice Questions)

 (1 mark each)
1.  

(A) 

(B)  

(C)  

(D)  

P.T.O.
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Who is the founder of Rural Sociology.
(A) C. J. Galpin

(B) Robert Mayer

(C) August Comte

(D) George Simmel

2.   

(A) 

(B) 

(C) 

(D) 

When did National Commission for scheduled Tribe formed?

(A) 1987

(B) 2004

(C) 1990

(D) 2003

3.   

(A) 

(B) 

(C) 

(D) 

What years did Rural Sociology starts?

(A) 1820
(B) 1836
(C) 1857

(D) 1928
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4.         
     

(A) 

(B)    

(C) 

(D)  

How did protective measures implimented in integration-
ist approached to protect them?

(A) Protect them

(B) Protect their economic & social interest

(C) Protect them from exploitation

(D) Protect their culture tradition and land.

5. 


(A) %

(B) %

(C) %

(D) %

Rural population according to 2011 census was?

(A) 64.48%

(B) 68.84%

(C) 59.35%

(D) 62.20%
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6. 'Rural Sociology in India'

(A)   

(B)  

(C)   

(D)   

Who wrote the book 'Rural Sociology in India'?

(A) M. N. Srinivas

(B) A. R. Desai

(C) C. J. Galpin

(D) K. S. Singh

7.    

(A) 

(B)  

(C) 

(D) 

Village is a unit of .................?

(A) Society

(B) Rural Society

(C) Indian Society

(D) World
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8.   

(A) 2003

(B) 2005

(C) 2007

(D)  

When was the National Rural Health Mission started in
India?

(A) 2003

(B) 2005

(C) 2007

(D) None

9.  

(A) 

(B) 

(C) 

(D) 

What is the main reason for male migration in India?

(A) Education

(B) Business

(C) Employment

(D) Marriage

P.T.O.

[6]

F - 398

10.  

(A)  

(B)  

(C) 

(D) 

In which form is the family accepted?

(A) Secondary group

(B) Primary group

(C) Tertiary group

(D) None of above all

11.   

(A)  

(B)   

(C)   

(D) 

Who started 'Bhoodan movement'?

(A) Mahatma Gandhi

(B) Dr. B. R. Ambedkar

(C) Acharya Vinoba Bhave

(D) Raja Ram Mohan Roy
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12.       

(A) 

(B) 

(C) 

(D) 

Pavlov in famous for his work in-

(A) 1939

(B) 1935

(C) 1926

(D) 1937

13. 

(A) 

(B) 

(C) 

(D) 

Which of  the following is not included in Rural
institutions?

(A) Religions

(B) Marriage

(C) family

(D) School

P.T.O.
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14.  

(A)    

(B)       

(C) 

(D)   

Rural Sociology:

(A) Sociology of life in Rural environment is

(B) The soc io logy  o f  the marriage system in
Rura l  soc iety is

(C) The study of changes in family structure in Rural
society.

(D) The study of economic aspects of rural life is

15.     

(A)  

(B) 

(C) 

(D) 

National Institute of Rural Development is located at:

(A) Delhi

(B) Hyderabad

(C) Chennai

(D) Bangalore
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16.   

(A)  

(B)  

(C) 

(D)    

Which is not the main characteristics of Rural family:

(A) Agriculture as Occupation

(B) Joint Family

(C) Specialization

(D) Control of the head of the family

17.  

(A)   

(B)  

(C)  

(D)   

Who is known as father of green revolution?

(A) M. N. Swaminathan

(B) Normal burlog

(C) Yogesh Atal

(D) D. N. Dhangare

P.T.O.
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18.  

(A) 

(B)  

(C) 

(D) 

Which State of India related to the Tebhaga movement of
1946.

(A) Andhra Pradesh

(B) West Bengal

(C) Bihar

(D) Orissa

19.  

(A) 

(B) 

(C) 

(D) 

From which States Naxal movement started?

(A) Karnataka

(B) Assam

(C) Bengal

(D) Bihar
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20.      

(A)  

(B)   

(C)   

(D)  

Who lead the Nile Rebellion?

(A) Mahatma Gandhi

(B) Bishnoo Viswas/Digambar Viswas

(C) Indra Naik/R.K. Munsi

(D) Sardar Patel

 

Section - B

  

(Very Short Answer Type Questions)

(1½ marks each)

   

Note: Attempt all questions.

1.    

Define Village.
P.T.O.
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2.    

Define Tribe.

3.     

Define Schedule Tribe

4.     

Explain major characteristics of Tribes.

5. 

What is Land alienation?

6.     

Write types of peasant movement.

7. 

What is Co-operative farming?

8. 

What is good Health?

9. 

What is Tebhaga movement?

10.      

Explain any three characteristics of tribal movement.
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

Section - C

  

(Short Answer Type Questions)

(2½ marks each)

    

Note: Attempt all questions in 75 words.

1.  

What is Rural sociology.

2.      

Explain the pattern of livelihood among tribes.

3. 

What is shifting cultivation?

4.     

Explain the effect of peasant movement.

5.  

Explain various social issues of Rural Society.

6.     

Explain the characteristics of Artisan Tribal society.
P.T.O.
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7. 

What is Rural Inequality

8.       

Discuss the problems of literacy in Tribes?

9.     

Explain the basic element of Rural social/structure.

 

What do you mean by migration.



Section - D

  

(Long Answer Type Questions)

(4 marks each)

  

Note: Attempt any four questions. (150 In words)

1.       

Write the general characteristics of Tribal economic
organisation.

/OR
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     

Write an essay on tribal Cultural diversity.

2.      

Write an essay on Rural migration.

/OR


   

What do you understand by land reform. Discuss the
changing pattern of Land reform in India.

3.     

Explain Rural Health in Brief.

/OR

     

Mention the factors resources of loss of livelihood in Rural
peoples.

4.       

Elaborate on changing status of Rural women.

/OR

P.T.O.

[16]

F - 398

     

What is peasant movement explain causes and types of
peasant movement.

5.       

Explain the main causes of Naxalite problem.

/OR

      

Explain the Solution to the problem of Naxalite.


